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GCSE Listening Sheet

Antonin Dvorak, Symphony No 9. ‘New World’ 2nd Movement ‘Opening’

1st Listening

1. Which instrument plays the melody at 7?

2. The melody is shadowed by two other instruments at 11. Which instruments?

3. Where did this music occur before?

4. From 27 the strings play a new version of something you’ve heard before. What is it?

5. At 40 the last phrase of the famous melody is echoed. On which instruments?

6. The horns bring the music to a close. Why do they sound so distant?

2nd Listening

1. Why do you think Dvorak adds the timpani roll at 4?

2. Dvorak seems to have found it difficult to decide how the Cor Anglais solo should go. The first phrase is different each time. Can you spot the differences between 7/8, 15/16 and 36/37?

3. How does he strengthen the tune when it rises to its climax at 17?

4. When the opening chords return at 22, how are they different from the opening?
